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STATISTICS

1. Given below is the distribution of turnover (In lakh Rs) of 50

departmental in a year.

5-15  15-25  25-35 | 35-45 | 45-55
5 0 20 132

Find mean turnover of the stores.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qOwyQApcDOqX

2. The class width and class mark of the class 10.5 — 12.5 are

and respectively.

A 2,11

B.2,11.5

c.10, 11

D. 10, 11.5

Answer: B

o Watch Video Solution

3. Given below is the distribution of the daily income of workers.
100— 150 | 150-200 | 200-250 | 250-300 | 300350 350 - 400
I D A Y A T B T S

Find the mean of daily income of a worker.

o Watch Video Solution



https://dl.doubtnut.com/l/_fN1hxeIGyvjn
https://dl.doubtnut.com/l/_gRCkptFZV3yb
https://dl.doubtnut.com/l/_iDSsV1fZpEHV

4. Given below is the distribution of the daily income of workers.

\ 100150 | 150-200 | 200-250 | 250-300 | 300-350 350400
2 / 7| 9 8 6 4

Find the mean daily income of a worker.

o Watch Video Solution

5. Find the median of the given data : 58, 74, 69, 70, 73, 74, 80.

A.73

B.74

C.70

D. 80

Answer: A

o Watch Video Solution

6. Find the median of the given data : 50, 70, 90, 94, 40, 65, 70, 80, 85, 95.



https://dl.doubtnut.com/l/_iDSsV1fZpEHV
https://dl.doubtnut.com/l/_XXJOaG7KzhNl
https://dl.doubtnut.com/l/_88hUP3RNzyNW

l ) Watch Video Solution J

7.For the given frequency distribution find the median.

50 | 42 | 50 70 | 4 = 20

- S

S 10-20 | 20-30 | 30-40 | 40-50 5060 },_§9f—j%

o Watch Video Solution

8. Given below is the frequency distribution of daily wages (in Rs) of 130

workers.

80-84 | 85-89 [ 90-94 | 95-99 | 100-104 | 105109
10 | 20 | 25 | a4 | 3 | o0

Find the median of the daily wages of workers.

° Watch Video Solution

9. Find the median for the given frequency distribution.

‘ess than [ Lessthan | Lessthan | Less than \ Less than \ Less than \ Less than
50 | 60 A
4 | 12 T 24 41 [ 51 | 58 | 60

70 80 90 100 110

° Watch Video Solution



https://dl.doubtnut.com/l/_88hUP3RNzyNW
https://dl.doubtnut.com/l/_uRhviabHV8pO
https://dl.doubtnut.com/l/_WYmKtGGxBZ15
https://dl.doubtnut.com/l/_IIwO8gtCkmHc

10. The following table shows ages of people who went to a particular

play of circus in a day.

0-10  10-20 | 20-30  30-40 40-50

30 70 50 | 45 10

Find the mode of the ages of the vistiors.

° Watch Video Solution

11. Draw a histogram to represent the following data.
1500-2500 | 2500-3500 | 3500-4500 | 4500-5500 | 5500-6500 |
6 | o2 [ 8 [ 4 1w )

° Watch Video Solution

12. Draw a frequency polygon to represent the following data.

| 1500-2500 | 2500-3500 | 35004500 | 4500-5500 | 5500-6500 |
6 | 12 8 | 4 10

° Watch Video Solution



https://dl.doubtnut.com/l/_IIwO8gtCkmHc
https://dl.doubtnut.com/l/_aQcqK7Llp3FV
https://dl.doubtnut.com/l/_FzzYiKAn0lab
https://dl.doubtnut.com/l/_gffF6Ij6gSRB

13. Draw the frequency polygon to represent the following data.

2500-3500  3500-4500  4500-5500  5500-6500
12 ! 8 | 4 10

| 1500-2500
6

[
|
f
|

o Watch Video Solution

14. The marks obtained by a student in various subjects in an examination

are given below.

e e s o e

| Marathi  English " Science  Maths Tota\
8 8 90 | 100 | 360

| S L B B

Represent the data using pie diagram.

o Watch Video Solution

15. The following table shows the household expenditure of family on

different items. Draw a pie chart to represent the given data.

Item Rent Food Cloting Education Others
Expenditure 25% 30% 10% 15 % 20 %

° Watch Video Solution



https://dl.doubtnut.com/l/_uJ3otq9gh0IA
https://dl.doubtnut.com/l/_288dbWXa47Si
https://dl.doubtnut.com/l/_zmYwMUM9OnL0

16. The pie diagram represents the amount spent on different sports by a
school administration in a year. If the money spent on football is Rs9000,
answer the following questions :

1. What is the total amount spent on sports?

11. What is the amount spent on hockey?

111. How much more amount is spent on tennis than on basket ball?

Cricket

° Watch Video Solution



https://dl.doubtnut.com/l/_zmYwMUM9OnL0
https://dl.doubtnut.com/l/_MWVl3iSeOUyG

1. The daily sale of 100 vegetable vendors is given in the following table.

Find the mean of the sale by direct method.

B 10001500 1500-2000 2000 -2500 | 2500 - 3000
s 20 3 30

° Watch Video Solution

2.The following table shows the funds collected by 50 students for flood

affected people. Find the mean of the funds.

0-500 | 500 - 1000 ! 1000 - 1500 ] 1500 2000 | 2000 —2500 | 2500 — 3000
! ——
| l I
2 / 4 ‘ 24 ‘. 18 1 1

If the number of scores in two consecutive classes is very low, it is

convenient to club them. So, in the above example, we club the classes
0 — 500, 500 — 1000 and 2000 — 2500, 2500 — 3000. Now the new table is

as follows

] 0-1000 | 1000-1500 | 1500-2000 | 2000 - 3000

6 f 24 18 | 2

!

. Solve by direct method.


https://dl.doubtnut.com/l/_1IwyGHospycF
https://dl.doubtnut.com/l/_kFRVFDZWO1hp

1t. Verify that the mean claculated by assumed mean method is the
same.

tii. Find the mean in the above example by taking A = 1750.

° Watch Video Solution

Multiple Choice Questions

1.1fd = — 20.83, X = 254.17,then A = ?

A. 270

B. 275

C.233.34

D.12.20

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kFRVFDZWO1hp
https://dl.doubtnut.com/l/_CGVmhQECTchc
https://dl.doubtnut.com/l/_ZNKgznZzZS9g

2. Identify the correct formula for mean from the following:

AX=A-d
B.X =A+d
CX=d-A
DX =A+a
Answer: B

° Watch Video Solution

3.F) f;=20,) fix; =120+ yand X = 7, theny = ?

A. 10
B. 20
C. 30

D. 40


https://dl.doubtnut.com/l/_ZNKgznZzZS9g
https://dl.doubtnut.com/l/_DAlMgKZJA3Ch

Answer: B

° Watch Video Solution

4.0f ) " fu; =36, f; =100,A = 40and h = 3,then X = ?

A.41.08
B. 38.92
C.39.64

D. 40.36

Answer: A

° Watch Video Solution

5. Raju has a hobby of collecting tickets everyday. He collected

2,1,2,5,3, 1,4 tickets in last week. What is the mean number of tickets

collected by Raju everyday?


https://dl.doubtnut.com/l/_DAlMgKZJA3Ch
https://dl.doubtnut.com/l/_NTEeeRt4cdVo
https://dl.doubtnut.com/l/_vPcyG7q9Vbtm

A 2.67

B.2.57

C.3.67

D. 3.57

Answer: B

o Watch Video Solution

6. Median class for the following data is

- — w,.z
|
A

0-10 10-20 20-30 30-40 40-50 |
s 2 6 % 0

B.10 — 20

C.20 — 30

D.30 — 40

Answer: D


https://dl.doubtnut.com/l/_vPcyG7q9Vbtm
https://dl.doubtnut.com/l/_hhZXI3lDw511

° Watch Video Solution

7.1dentify the correct formula from the following:

A Median = L + (— + cf)—

B. Median = L +

D. Median = L +

(
(

Answer: C

o Watch Video Solution

8.If L = 20, f; = 100, fy = 70, fo = 70, h = 10, then mode=?

A. 20

B.20.5

C.25


https://dl.doubtnut.com/l/_hhZXI3lDw511
https://dl.doubtnut.com/l/_NPVjXnPxCKMy
https://dl.doubtnut.com/l/_bztnPMc2Qsb6

D. 30

Answer: C

° Watch Video Solution

20-30 | 30-40  40-50 50-60
5 10 8 4

A.5, 10,8

B.10, 5, 8

C.8,10,5

D. 10, 8, 5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bztnPMc2Qsb6
https://dl.doubtnut.com/l/_M3j6isGfWCtA

10. Modal class for the data given below is

-,[10.—;,20". 120-30[30-40 | 40-50 | S0-60 |
2 s 10 |8 L 4

A. 10 — 20
B.40 — 50
C.50 — 60
D.30 — 40
Answer: D

° Watch Video Solution

11. After the class are made continuous, the lower limit of the class


https://dl.doubtnut.com/l/_OGusawEUOXWF
https://dl.doubtnut.com/l/_65v1TFn9GCgY

C.40.5

D.45.5

Answer: A

° Watch Video Solution

12. In a pie diagram, central angle for football is 45°. If the total

expenditure on all sports is Rs72000, then what is the amount spent of

football?

A. Rs180000

B. Rs9000

C. Rs4500

D. Rs4000

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_65v1TFn9GCgY
https://dl.doubtnut.com/l/_Kn6GKaKW5S3t

13. A pie diagram represents the number of hours spent by a school boy

in different activites in a day. If 7 hours are spent in school, then what is

the measure of the central angle?

A.210°

B.105°

C.52.5°

D.90°

Answer: B

o Watch Video Solution

14. From the total expenditure , expenditure on education is 20 % . What
is the measure of the central angle of expenditure on education to show

in the pie diagram?

A.72°


https://dl.doubtnut.com/l/_Kn6GKaKW5S3t
https://dl.doubtnut.com/l/_xGS7bjdOC0wA
https://dl.doubtnut.com/l/_SyMaiC0ufze0

B.144°

C.20°

D.40°

Answer: A

° Watch Video Solution

Additional Problems For Practice

1. Rainfall (in cm) recorded in 50 cities on a particular day. Find the mean

rainfall by direct method.

1 6 7 | (O Y A A a0

° Watch Video Solution

2. The following table shows the frequency distribution of the time

required for each worker to complete a work. From the table find the


https://dl.doubtnut.com/l/_SyMaiC0ufze0
https://dl.doubtnut.com/l/_o9C112KMof9N
https://dl.doubtnut.com/l/_qf43BAAyi4iZ

mean time required to complete the job for a worker.

15-19  20-24 [ 25-29 \ 30-34 \35-39 \

10 15 12 8 | S )

o Watch Video Solution

3. The percentage of marks of 50 students in a test is given in the

following table. Find the mean of the percentage.

- 0-20 \ 20-40 | 40-60 | 60-80 | 80-100 |
3 7 1 T2 s )

° Watch Video Solution

4. The maximum temperatures in °C of 30 towns, in the last summer, is
shown in the following table. Find the mean of the maximum

temperatures.

— ~28 5 TR T
4 5 T 8 6

o Watch Video Solution



https://dl.doubtnut.com/l/_qf43BAAyi4iZ
https://dl.doubtnut.com/l/_SDNAT5PsKiX4
https://dl.doubtnut.com/l/_XeTAyF6sKVHz
https://dl.doubtnut.com/l/_RI6f99exlXRN

5. For a certain frequency distribution, the value of Assumed mean

(A) = 1300, Zfidi = 900 and Zfi = 100. Find the value of mean

().

° Watch Video Solution

6.Find the mean by assumed mean method.

10-16 | 16-22 | 22-28 | 28-34 | 34-40
I | 10 = 5 [ N R B

° Watch Video Solution

7.Find the mean by assumed mean method.

-0-100 [ 100-120 [ 120-140 | 140-160 | 160-180 |
20 | 3 1 20 | a0 | 0

° Watch Video Solution



https://dl.doubtnut.com/l/_RI6f99exlXRN
https://dl.doubtnut.com/l/_XuImyWV8hYOY
https://dl.doubtnut.com/l/_sKCLNXTHQh8u

8. Frequency distribution of daily commission received by 100 salesman is

given below:

| 100 - 120 20 |
| 120 - 140 45 |
| 140 - 160 22 %
[ 160 — 180 09 g
| 180 — 200 04

Find mean daily commission received by salesman, by assumed mean

method.

° Watch Video Solution

9. The following table shows the frequency table of daily wages of 50

workers in a trading company. Find the mean wages of a worker, by

assumed mean method.

200-240 240 280 280-320 | 320-360 360400
s 10 15 12 8

o Watch Video Solution



https://dl.doubtnut.com/l/_OeWzVbgz5Bmu
https://dl.doubtnut.com/l/_AnPCo64RGmgQ

10. Below is the distribution of money (in Rs) collected by students for
flood relief fund. Find mean of money collected by the students using

step deviation method:
0-10 [ 1020 [20-30 [ 3040 | 40-50 |
I i A S ks s i | 2 W el

o Watch Video Solution

11. Below is the given frequency distribution of words in an essay. Find the

mean number of words written using step deviation method.

600-800 | 800-1000 | 1000~ 1200 | 1200 — 1400 | 1400 - 1600
14 | 22 ‘. E R Rt T T

° Watch Video Solution

12. Find the median

[ 16-20 21-25 | 26-30
50 + 40 10

° Watch Video Solution



https://dl.doubtnut.com/l/_2mlimTGSzNFj
https://dl.doubtnut.com/l/_ycCmUoBa9m4T
https://dl.doubtnut.com/l/_WfovSQLeyQsO

13. Find the median

T T T \
30-35 | 35-40 | 40-45 | 45-50 | S50-55 | 55-60 |
2 18 | 2 21w | u

o Watch Video Solution

14. The following is the distribution of the size of certain farms from a

taluka (tehsil) :

15-25 12

25-35 17
35-45 25
45-55 31

55-65 5

65-75 3 1

Find median size of farms.

° Watch Video Solution



https://dl.doubtnut.com/l/_xluYF8qjqtO2
https://dl.doubtnut.com/l/_GsNXtqrckpAS

15. Find the median. The table below gives the weights of 85 strawberry.
110-119 [ 120-129 | 130-139 | 140-149 | 150-159 160160 17007 e
58 [ 12 5 18 o 9 1 *
| 1 N T

° Watch Video Solution

16. Find the median.

—of3j3—6'i 6-9 [ 9-12 | 12-15 | 1518 18 2 20
4 | 19 0o 1 0o o w0 v

° Watch Video Solution

17. The following table shows frequency distribution of marks of 100
students of 10” class which they obtianed in a practice examination. Find

the median of the marks.

0 0-20 | 20-40 [40-60 | 60-80 | 80100 |

|20 30 | 4 | 6

° Watch Video Solution



https://dl.doubtnut.com/l/_FxWrNt4peH8B
https://dl.doubtnut.com/l/_nTEnpXSXOqsz
https://dl.doubtnut.com/l/_KX0GrkVEulcL

18. Observe the following frequency distribution table. It shows the

distances travelled by 60 public transport buses in a day. Find the median

of the distance travelled.
‘)ﬁ@‘; 210-219 ‘ 220-229 \ 230-23 | 240249
_f:":ﬁ% 7 T U R

o Watch Video Solution

19. The following table shows the ages of persons who visited a museum

on a certain day. Find the median age of the persons visitng the museum.

| Less than 10

| Less than 20 10 \

| Less than 30 22 \

| Less than 40 40 \
| Less than 50 54 |
| Less than 60 71 |

° Watch Video Solution



https://dl.doubtnut.com/l/_xwjLasuG3zKi
https://dl.doubtnut.com/l/_cNS9rDmO3U3s

20. Find the mode.

0-10 | 10-20 = 20-30 | 30-40 |
1

2 4 9 1

° Watch Video Solution

21. The classification of children according to their ages, playing on a
ground is shown in the following table. Find the mode of ages of the

children.

10-12 [ 12-14 L1416

0 e 2

|

oS8

° Watch Video Solution

22, Calculate the mode.
0-10 | 10-20 | 20-30 | 30-40 | 40-50 5060
4 16 |15 0 1 s

o Watch Video Solution



https://dl.doubtnut.com/l/_QkzDmYTp0nb8
https://dl.doubtnut.com/l/_45iwwsgtvEu0
https://dl.doubtnut.com/l/_300xEWfmz8oq
https://dl.doubtnut.com/l/_ZTLYrm0hiklX

23. Calculate the mode.

130-134 | 135-139 | 140-144 | 145-149 | 150-154 | 155-159 | 160-164 |
5 s o8 [ a4 [ w7 w0 )

o Watch Video Solution

24. The following frequency distribution table shows the classification of
the number of vehicles and the volume of petrol filled in them. Find the

mode of the volume.

‘; L10-12 ] 13a1s
| , | \
27 18 n

-
|
o

o Watch Video Solution

25. Draw a histogram representing the following distribution.

4 ! 7 | 5 5 9

° Watch Video Solution



https://dl.doubtnut.com/l/_ZTLYrm0hiklX
https://dl.doubtnut.com/l/_x9pSvO9sLPVH
https://dl.doubtnut.com/l/_gTO8Su3lEfgC
https://dl.doubtnut.com/l/_9U154MMcjig8

26.Draw a histogram representing the following distribution.

_ 35-45 | 45-55 | ss_65 | 65-75 | 15-%
F N S S R B VR 4

° Watch Video Solution

27. The marks scored by students in Mathematics in a certain

examinations are given below:

20 [ 20-40 | 40-60 | 60-30 | 80-100
Los s \ vl

Draw histogram for the above data.

° Watch Video Solution

28. Represent the following data by histogram:

26-3030-32 32-34 34 36 36 W
4 8 22 12 6

° Watch Video Solution



https://dl.doubtnut.com/l/_9U154MMcjig8
https://dl.doubtnut.com/l/_JZCT34A6kvDZ
https://dl.doubtnut.com/l/_sgdPwnX8Amgq

29. The following is the frequency distribution of waiting time at ATM

centre, draw histogram to represent the data:

TR . A5 R &
30-60 23

60 — 90 64

. 90-120 50
| 120 - 150 5

o Watch Video Solution

30. The table below shows the net asset value (NAV) per unit of mutual
funds of some companiesDraw a histogram representing the

information.

il s o
20

C10-11 | 12-13 [ 14-15 0 16217
40 0 30 | 25 . \5

° Watch Video Solution



https://dl.doubtnut.com/l/_1guuiK3wSRXq
https://dl.doubtnut.com/l/_Leshenwd4JsJ

31. Draw frequency polygon for the following frequency distribution.

10-20 02 ‘

20-30 08
30 -40 10
40 - 50 05
[ 50 — 60 04

° Watch Video Solution

32.The following table shows the weights of children and the number of

children. Draw a frequency polygon showing the information.
18219 ] 19-20 [ 20-21 |21-22 | 22-23 | 23-24 |
4 Bat.s § N1 R

° Watch Video Solution

33. Answer the following questions based on the frequency polygon given

in the figure.

1. Write frequency of the class 50 — 60.


https://dl.doubtnut.com/l/_XUBp74XcKfMK
https://dl.doubtnut.com/l/_ssyQRD4n8crN
https://dl.doubtnut.com/l/_8SCAP8gzKUyQ

1t State the class whose frequency is 14.
111. State the class whose class mark is 55.
tv. Write the class in which the frequency is maximum.

v. Write the classes whose frequencies are zero.

1 'I YL, { | _{Scale: 1
2 X— axis: 1 cm = 10 rupees
(35, 20) On Y— axis: 1 cm = 2 funds

20 Rt ~

-+

L / L
1o 7 ¥((4s,16) '
14 25, 14),4 \ _
b /
i g% ______ i ‘[I’ % 55, 10)
¢ 8 (,15’ 8),. \ - <
i iR i \
PEEHIEE \
IR e

o Watch Video Solution



https://dl.doubtnut.com/l/_8SCAP8gzKUyQ

34. In a bicycle shop, number of bicycles purchased and choice of their
colours was as follows. Find the measures of sectors of a circle to show

the information by a pie diagram.

White | Black | Blue | Grey | Red | Towl |
10 9 | 6 | 1 a0 |

° Watch Video Solution

35. Area under different crops n a certain village is given below :

Represent, it by a pie diagram:
Jowar | Wheat | Sugarcane | Vegetables |
40 60 | 50 | 30 |

° Watch Video Solution

36. Area under different crops n a certain village is given below :

Represent, it by a pie diagram:


https://dl.doubtnut.com/l/_LvUUcpIWEFfP
https://dl.doubtnut.com/l/_OfkfD6vzYDSi
https://dl.doubtnut.com/l/_awVfpJjmgbe6

Jowar

; 8000 \

| Wheat 6000 \
/ Sugarcane 2000 \
| Vegetables 2000 |
° Watch Video Solution

37. The number of hours spent by a school boy in different activities in a

day is given below:

- Sleep ~ School ~ Play
6

_ Home-work  Other Towl |
7 3 4 4

24

Represent the above information using pie diagram.

° Watch Video Solution

38. The marks obtained by a student in an examination are given below

- Marathi | Hindi | English | Mathematics  Total
95 |

9 | 95 0 30

Represent the data using pie diagram.

° Watch Video Solution



https://dl.doubtnut.com/l/_awVfpJjmgbe6
https://dl.doubtnut.com/l/_HGc3zHsUyNPA
https://dl.doubtnut.com/l/_b7trjRi26qct

39. The marks obtained by a student in an examination are given below:

The total marks out of 100 obtained in various subjects are as follows:

| Marathi S | i
| English 8
Science 100

| Mathematics 100 |
Total | 360 \

Represent the data using pie diagram.

° Watch Video Solution

40. The following table shows the daily supply of electricity to different

places in a town. Show the information by a pie diagram.
Factories " Houses  Roads Shops Oftices Others
24 14 7 5 6 4

° Watch Video Solution



https://dl.doubtnut.com/l/_b7trjRi26qct
https://dl.doubtnut.com/l/_BlRpwrtkGjtE
https://dl.doubtnut.com/l/_Iob4QCwpoDpA

41. The adjoining pie-diagram shows the S.S.C result of 5 boards. Study
the diagram and answer the following questions :

i. How many students have passed in board A if total number of students
appeared was 5400007

11. How many students have passed in board E if the total number of

students appeared was 100000 ?

Board B

100°

B ) Board A
oard C()SO 300 r

9()°
45°
Board E

Board D|

o Watch Video Solution



https://dl.doubtnut.com/l/_HcRVFeskwn5M

42. The following pie diagram represents the sectorwise loan amount in
crores of rupees distributied by a bank. From the information answer the
following questions:

. If the dairy sector receives Rs20 crores, then find the total loan
disbursed.

1¢. Find the loan amount for agriculture sector and also for idustrial
sector.

114 How much additional amount did industrial sector receive than

agriculture sector?

Agriculture



https://dl.doubtnut.com/l/_8FbgphWRNP4R

l & Watch Video Solution J

43. The following pie diagram represents expenditure on different items
in constructing a building.

If the total construction cost of building is Rs540000 answer the
following questions:

1. Find the central angle for labour expenditure.

1. Find the expenditure on labour.

Cement

o Watch Video Solution



https://dl.doubtnut.com/l/_8FbgphWRNP4R
https://dl.doubtnut.com/l/_kAbrLpvYCemk

44. As deduced from a survey, the classification of skilled workers is
shown in the pie diagram. If the number of workers in the production
sector is 4500, answer the following questions.

1. What is the total number of skilled workers in all fields?

1t. What is the number of skilled workers in the field of constructions ?
111. How many skilled workers are in agriculture?

iv. Find the difference between the number of workers in the field of

production and construction.

Agriculture

Others

Production

o Watch Video Solution



https://dl.doubtnut.com/l/_pUy4uEoxgopA

Apply Your Knowledge

1. The heights (in cm) of 50 students of a class are given below

Find the median height

Height (in cm) 156 | 154 | 155 | 151 | 157 | 152 | 153

Number of students 8 4 10 6 7 3 12

° Watch Video Solution

2.The lengths of 40 leaves of a plant are measured correct to the nearest
millimetre, and the data obtained is represented in the following table :
Find the median length of the leaves. (Hint: The data needs to be

converted to continuous classes for

° Watch Video Solution

3. Find the mean weight of 20 students in your class.

° Watch Video Solution



https://dl.doubtnut.com/l/_ydEQrAT0v3cf
https://dl.doubtnut.com/l/_6QsZlPTMNoEu
https://dl.doubtnut.com/l/_MShAcJgF7TyG

4. Find the mode of sizes of shirts of students in your class.

° Watch Video Solution

5. Every student in your class should measure his/her own pulse rate.

Note the pulse rates of all students and find the mode of the pulse rate.

° Watch Video Solution

Chapter Assessment

1. If the assumed mean, A = 45 and d = 9, then the value of X is

A 54
B. 36

C.—54


https://dl.doubtnut.com/l/_MShAcJgF7TyG
https://dl.doubtnut.com/l/_6brNwyjPTibK
https://dl.doubtnut.com/l/_A55UIWywr6sI
https://dl.doubtnut.com/l/_XXF35yYrtsAH

D. —36

Answer: A

° Watch Video Solution

2. The class width and class mark of the class 10.5 — 12.5 are

and respectively.

A 2,11

B.2, 11.5

C.10, 11

D. 10, 11.5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XXF35yYrtsAH
https://dl.doubtnut.com/l/_aY3zGNdO8uPM

3. The Median class of the data given below is

0-10 [ 10-20 | 20-30 | 30-40 | 40-50 |
BN 16 4 2 g |

A.10 — 20
B.20 — 30
C.30 — 40
D.40 — 50
Answer: B

° Watch Video Solution

4.In a pie diagram, the measure of central angle of the amount spent on
education is 30°. If Rs900 was spent on education, then what is the total
expenditure?

A. Rs10800

B. Rs108000


https://dl.doubtnut.com/l/_sz1Zs8aMAXuO
https://dl.doubtnut.com/l/_z8IFSYIu82OG

C. Rs5400

D. Rs54000

Answer: A

° Watch Video Solution

5. For a grouped frequency distribution if L = 60, fy = 47, f; = 65,

fo = 8, h = 20, then find the mode for the given data.

° Watch Video Solution

6. The adjacent pie diagram represents expenditure on different items in

constructing a building. If the expenditure on bricks is Rs75000, find the


https://dl.doubtnut.com/l/_z8IFSYIu82OG
https://dl.doubtnut.com/l/_x5I9qJp77GYk
https://dl.doubtnut.com/l/_A8yWI5WFJzqz

total expenditure and expenditure on labour.

Labour

Timber

o Watch Video Solution

7. The monthly expenditure of a family on different items is given in the

following table. Calculate the related central angles.

o View Text Solution



https://dl.doubtnut.com/l/_A8yWI5WFJzqz
https://dl.doubtnut.com/l/_Mr1OeKK1kdhR

8. The following table shows frequency distribution of marks secured by

100 students in a particular examination. Find the mean of the marks.
1 0-20  20-40 4060 | 60-8%0
oo 3 20 0 &

° Watch Video Solution

9. Draw the Histogram for the following frequency distribution.
00 0 240 30 s0

o Watch Video Solution

10. Below is the distribution of money (in Rs) collected by students for
flood relief fund. Find mean of money collected by the students using

step deviation method:

10-15 | 15-20 | 20-25 | 25-30  30-35  35-40
3.6 4 s % 3

o Watch Video Solution



https://dl.doubtnut.com/l/_XRlSUuJC0q0i
https://dl.doubtnut.com/l/_j3E9WcC6CRpK
https://dl.doubtnut.com/l/_VqxGS7uhn6g1

11. The following table shows ages of 200 patients (in years) and the
number of patients getting medical tretment on a particular day in a

hospital in a day.

T

T 10-20 [ 20-30 [ 30-40 | 40-50 | S0-60  60-10
12 [ se [oso w1 2

Find the median age of a patient.

° Watch Video Solution

12. 50 persons were examined for their Haemoglobin % in blood (in mg

per 100ml) and the results were grouped as below:

T 3014 | 14115 15016 16011 AT
4 w6 T s

Find mode of haemoglobin % in blood of a person.

° Watch Video Solution

13. Calculate the mean of daily income (in Rs) of the following data about

men working in a company by using step deviation method.


https://dl.doubtnut.com/l/_aiS298ytOl0y
https://dl.doubtnut.com/l/_y7G1uyyxWq9I
https://dl.doubtnut.com/l/_vdhLCDlvFC9w

M[ Lessthan | Lessthan | Less than  Less than Less ™han
“ (m? 100 200 300 400 500
Numbcr ofng ol 12 ‘ 28 14 4\ an

° Watch Video Solution

14. The following tale gives the result of certain examination for 180

students. Find the value of  and draw histogram.

ks U7 0 10 1020 | 20-30 | 30-40  40-50 | S0-&0
mts | 10 x 25 2 s 30

° Watch Video Solution

15. The following table shows the ages of persons who visited a museum

on a certain day. Find the median age of the persons visitng the museum.

Less than 10 - %

~Less than 40 a0
Lessthan S0 54
 Lessthan60 11

° Watch Video Solution



https://dl.doubtnut.com/l/_vdhLCDlvFC9w
https://dl.doubtnut.com/l/_jqaFY9UY5Kqh
https://dl.doubtnut.com/l/_TZjM4bIenGnF

Practise Set 6 1

1. The following table shows the number of students and the time they
utilized daily for their studies. Find the mean time spent by students for

their studies by direct method.

° Watch Video Solution

2. In the following table, the toll paid by drivers and the number of

vehicles is shown. Find the mean of the toll by 'assumed mean' method.
- 300400 | 400-500 | 500600 . 600700 | 700 —800 &
80 | 10 | 120 | 70 | 40

° Watch Video Solution



https://dl.doubtnut.com/l/_TZjM4bIenGnF
https://dl.doubtnut.com/l/_cYxYzEutESwp
https://dl.doubtnut.com/l/_pexRwwLSnYvm

3. A milk centre solid milk to 50 customers. The table below gives the
number of customers and the milk they purchased. Find the mean of the

milk sold by direct method.

° Watch Video Solution

4. A frequency distribution table for the production of oranges of some
farm owners is given below. Find the mean production of oranges by

'assumed mean' method.
L 30-35 0 35-40 40-45  45-%0
20 | 25 7 1s w0 \0

25-30

° Watch Video Solution

5. A frequency distribution of funds collected by 120 workers in a

company for the drought affected people are given in the following table.


https://dl.doubtnut.com/l/_9rGskPdpCbNW
https://dl.doubtnut.com/l/_Oe6C4yDMiSBP
https://dl.doubtnut.com/l/_hkpUBsOhAE4a

Find the mean of the funds by 'step deviation' method.

©500-1000 1000 - 1500 1500 —2000 2000 - 2500
28 32 15 10

° Watch Video Solution

6. The following table gives the information of frequency distribution of
weekly wages of 150 workers of a company. Find the mean of the weekly

wages by 'step deviation' method.

©71 1000 -2000 20003000 3000 - 4000 4000 - 5000
- 25 450 30

° Watch Video Solution

Practise Set 6 2

1. The following table shows classification of number of workers and the

number of hours they work in a software company. Find the median of

the number of hours they work.

o 8-10 [ 10-12 [ 12-14  14-16 |
150 | 50 | 300 50 |



https://dl.doubtnut.com/l/_hkpUBsOhAE4a
https://dl.doubtnut.com/l/_Pvp6I9bSTn3O
https://dl.doubtnut.com/l/_vx7QRzO7MvJs

° Watch Video Solution

2. The frequency distribution table shows the number of mango trees in a

grove and their yield of mangoes. Find the median of data.
50-100 | 100150 | 150-200 | 200-250 | 250300 |
T e T YN T

° Watch Video Solution

3. The following table shows the classification of number of vehicles and

their speeds on Mumbai-Pune express way. Find the median of the data.
—i 60-64  6s-69  T0-74 | 15-79 8084 $5-g9
10 34 | 55 | 8 | w0 6

o Watch Video Solution

4. The production of electric bulbs in different factories is shown in the

following table. Find the median of the productions.

- T

30-40 | 40-50

; | | 50-60 6070 70—80L80—90 90 - 100
a2 3 20 s 8 7 8



https://dl.doubtnut.com/l/_vx7QRzO7MvJs
https://dl.doubtnut.com/l/_sOlZv3yMVUQZ
https://dl.doubtnut.com/l/_zqGJERFEdAGP
https://dl.doubtnut.com/l/_bVcYd022QXmv

° Watch Video Solution

Practise Set 6 3

1. The following table shows the information regarding the milk collected

from farmers on a milk collection centre and the content of fat in the

milk, measured by a lactometer. Find the mode of fat content.

° Watch Video Solution

2. Electricity used by some families is shown in the following table. Find

the mode of use of electricity.

0-20 20-40  40-60 = 60-8 | 80—100 | 100-120
e § ! | e e \
13 | 0 70 . 100 | 80 | 17 )
2t e

;!

o Watch Video Solution



https://dl.doubtnut.com/l/_bVcYd022QXmv
https://dl.doubtnut.com/l/_kdmWf8zEVT7A
https://dl.doubtnut.com/l/_0dePVs1wY9Wx
https://dl.doubtnut.com/l/_wUfmtYFHJ2Vh

3. Grouped frequency distribution of supply of milk to hotels and the
number of hotels is given in the following table. Find the mode of the

supply of milk.

1-3 | 3-5 5-7 1 7-9 | 9-11 | n-13 |
7 | s 15 1 20 | 3 | 18|

° Watch Video Solution

4. The following frequency distribution table gives the ages of 200
patients treated in a hospital in a weak. Find the mode of ages of the

patients.

Lessthan5 | 5-9 | 10-14 | 15-19 | 20-24 | 25-29
38 ] 32 | 50 | 36 | 24 20

| Age

° Watch Video Solution

Practise Set 6 4



https://dl.doubtnut.com/l/_wUfmtYFHJ2Vh
https://dl.doubtnut.com/l/_tIMRmqS6EV0m

1. Draw a histogram of the following data.

135- 140 | 140- 145 | 145-150 | 150—155:"»\
4 12 1 16 lo el

° Watch Video Solution

2. The table below shows the yield of jowar per acre. Show the data by

histogram.

2-3 0 4-s  6-7 %9 | 10-1
30 50 5 0 W

o Watch Video Solution

3. In the following table, the investment made by 210 families is shown.

Present it in the form of a histogram.
| | |
10-15 15-20 20-25 25-30 | 30-35
30 so0 60 | 55 15

° Watch Video Solution



https://dl.doubtnut.com/l/_7peKv3SBjuXm
https://dl.doubtnut.com/l/_MPII2WM0LVOm
https://dl.doubtnut.com/l/_zGxvE60rxerL
https://dl.doubtnut.com/l/_w9KZCOFNUKxq

4.Time alloted for the preparation of an examination by some students is

shown in the table. Draw a histogram to show the information.

60 - 80 80 - 100 100 -120 120140 140 - 160
14 20 24 22 16

o Watch Video Solution

Practise Set 6 5

1. Observe the following frequency polygon and write the answers of the

questions below it.

. Which class has the maximum number of students?

1. Write the classes having zero frequency.

111. What is the class mark of the class, having frequency of 50 students ?
1v. Write the lower and upper class limits of the class whose class mark is

85.


https://dl.doubtnut.com/l/_w9KZCOFNUKxq
https://dl.doubtnut.com/l/_iFT3ZvS9o6FG

v. How many students are in the class 80 — 90?

Scale:
On X- axis: 2 cm = 10 marks
Y On Y- axis: 1 cm = 10 students
I s L
EEEN ;‘
1 l | R
i (65, 60 — ’f
s e AN R B S
e (45, 40) : bl L n ]| —
4ol 401 \ EHEEEN
L L8] / Ekws, 35), ' i
1-30 |
i | | |
= (35, 20);?( ‘ 1
L % (85, 15) I
04— | I ST AT
, N | }
% 10].Y20 7 30| 4050 60| 70_| 80_] 901100 i
Y, ‘l 1 ] 1 e H
| S -

° Watch Video Solution

2. Show the following data by a frequency polygon.

0-200 | 200 -400 400 - 600 600 — 800 %00 - 1000
240 300 450 350 160

° Watch Video Solution

Practise Set 6 6



https://dl.doubtnut.com/l/_iFT3ZvS9o6FG
https://dl.doubtnut.com/l/_Hz87LbuH02Za
https://dl.doubtnut.com/l/_usLkG41H0Tt1

1. The age group and numbe of persons, who denoted blood in a blood

donation camp is given below. Draw a pie diagram from it.
20-25 | 25-30 | 30-35 | 35-40
80 g0 wfemnds U 25 )

° Watch Video Solution

2. The marks obtained by a student in different subjects are shown. Draw

a pie diagram showing the information.

English | Marathi | Science Mathematics | Social science | Hindi |
50 | 70 | 80 90 60 | 50

o Watch Video Solution

3. In a tree plantation programme, the number of trees planted by
students of different classes is given in the following table. Draw a pie
diagram showing the information.

5th 6" | 7th | ] 9“‘ R‘ \ 0"‘
0 | so 75 . so 10 | 15

o Watch Video Solution



https://dl.doubtnut.com/l/_usLkG41H0Tt1
https://dl.doubtnut.com/l/_05R6iMxlDpwb
https://dl.doubtnut.com/l/_wSPltz2SsbNF

4. The following table shows the percentages of demands for different
fruits registered with a fruit vendor. Show the information by a pie

diagram.

Oranges

Mango Sweét lime | Apples Chikoo
| 10

30 15 |25 20

o Watch Video Solution

5.The pie diagram in the given figure shows the proportions of different
workers in a town. Answer the following questions with its help.

1. If the total workers is 10000, how many of them are in the field of
construction?

1. How many workers are working in the administration?


https://dl.doubtnut.com/l/_wSPltz2SsbNF
https://dl.doubtnut.com/l/_GHi6ceyb1Wgm
https://dl.doubtnut.com/l/_MfOEYHPmCWpB

t11t. What is the percentage of workers in production

Agriculture
Electricity

18°
Food
48°
S
9()° .’
Production

Administration
o Watch Video Solution

or Admin

6. The annual investments of a family are shown in the given pie diagram.
Answer the following questions based on it.

1. If the investment in shares is Rs2000, find the total investment.

1. How much amount is deposited in bank?

ttt. How much more money is invested in immovable property than in

mutual fund?


https://dl.doubtnut.com/l/_MfOEYHPmCWpB
https://dl.doubtnut.com/l/_6buLhnjmkb99

tv. How much amount is invested in post?

Shares

60°

60° 30° post

Mutual
fund

90°

Deposit in
bank

o Watch Video Solution

Problem Set 6

1. Choose the correct alternative among the following :

The persons of O-blood group are 40 % . The classification of persons


https://dl.doubtnut.com/l/_6buLhnjmkb99
https://dl.doubtnut.com/l/_9rlLGsT6YekX

based on blood groups is to be shown by a pie diagram .what should be

the measures of angle for the persons of O -blood group ?

A.114°

B.140°

C.104°

D. 144°

Answer: D

o Watch Video Solution

2. Different expenditures incurred on the construction of a building were
shown by a pie diagram. The expenditure of Rs45000 on current was
shown by a sector of central angle of 75°. What was the total

expenditure of the construction?

A. 216000

B. 360000


https://dl.doubtnut.com/l/_9rlLGsT6YekX
https://dl.doubtnut.com/l/_luHP0VX4opgQ

C. 450000

D. 750000

Answer: A

° Watch Video Solution

3. Cumulative frequencies in a grouped frequency table are useful to

A. Mean

B. Median

C. Mode

D. All of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_luHP0VX4opgQ
https://dl.doubtnut.com/l/_PUp13bARR5lj
https://dl.doubtnut.com/l/_cuSLugrqQfsp

Z fiwg
> fi

for finding the mean of grouped frequency distribution u; is equal to

4.Intheformulaz =a -+ h

T, + A
g

B. (:E, — A)

ZEZ'—A
)
A—.’Ei
g

Answer: C

° Watch Video Solution

1416 16 1% % 20
12 20 1

The median of the distances covered per litre shown in the above data is

in the group .

Al2 - 14

B.14 — 16


https://dl.doubtnut.com/l/_cuSLugrqQfsp
https://dl.doubtnut.com/l/_zQfXiGbYw1ZS

C.16 — 18

D.18 — 20

Answer: C

o Watch Video Solution

The above data is to be shown by a frequency polygon. The coordinates
of the points to show number of students in theclass 4 — 6are

A (4,8)

B. (3, 5)

C. (5, 8)

D. (8, 4)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zQfXiGbYw1ZS
https://dl.doubtnut.com/l/_wanWz8a1x2g9

7. The following table shows the income of formers in a grape season.

Find the mean of their income.

-
‘1 6070 70 - 80
Lo

30-40 | 40-50
11 15

50 - 60
16

\
|
|

o Watch Video Solution

8. The loans sanctioned by a bank for construction of farm ponds are
shown in the following table. Find the mean of the loans.

[ I
50 - 60 i 60—704» 70 - 80 80 - 90 1‘
b - — |
20 |24 36 7 |

|

o Watch Video Solution

9. The weekly wages of 120 workers in a factory are shown in the following

frequency distribution table . Find the mean of the weekly wages.
s 3 ] s | 2 |

[ o~ |



https://dl.doubtnut.com/l/_wanWz8a1x2g9
https://dl.doubtnut.com/l/_c3MOn5VvWf4i
https://dl.doubtnut.com/l/_czSkb6Blaxff
https://dl.doubtnut.com/l/_LgDsENpdydCp

[ W Watch Video Solution J

10. The following frequency distribution table shows the amount of aid

given to 50 flood affected families. Find the mean of the amount of aid.

' x |
5060 { 60170 70-80 | 80-90 | 90100

- "* —

o
TE BT 0 | e | 4

° Watch Video Solution

11. The distances covered by 250 public transport buses in a day is shown
in the following frequency distribution table. Find the median of the

distances.

£ 200-210 210-220 | 220-230 | 230-240 240 250
[ 40 60 % | 50 2

° Watch Video Solution

12. The prices of different articles and demand for them is shown in the

following frequency distribution table. Find the median of the prices.


https://dl.doubtnut.com/l/_LgDsENpdydCp
https://dl.doubtnut.com/l/_uBE8HwFie4xT
https://dl.doubtnut.com/l/_Oe6wugU69MCl
https://dl.doubtnut.com/l/_3ELwtfV6fGQd

@50 Lesthan20 20 40 40 60 60-80 | 80-100
Jofartichs. |40 w8 _69___{“"@__:\

° Watch Video Solution

13. The following frequency table shows the demand for a sweet and the

number of customers. Find the mode of demand of sweet.

0-250 : 250 -500 500 - 750 \ 750 — 1000 \\000—-\250
0 [ e 5 1 20 | s

° Watch Video Solution

14.Draw a historgram for the following frequency distribution

50-70 | 70-90 | 90-110 [ 110-130 130-150 130-\10
TTIs0 | a0 | 460 | s 60 30

° Watch Video Solution

15. The time required for some students to complete

a science

experiment and the number of students is shown in the following


https://dl.doubtnut.com/l/_3ELwtfV6fGQd
https://dl.doubtnut.com/l/_GvVbPqQHde7E
https://dl.doubtnut.com/l/_lXt0dKuZ6vlx
https://dl.doubtnut.com/l/_0AFlAvBrxsjt

grouped frequency distribution table. Draw the frequency polygon with

the help of histogram using given information :

Time required for experiment ( minutes) 20 —22 22 —24 24 —26 26
Number of students 6 14 20 16

o Watch Video Solution

16. Draw a frequency polygon for the following grouped frequency

distrbution table.

35-39 40 -44 “ 45 -49

|

4 [ s T

° Watch Video Solution

17. Observe the given pie diagram. It shows the percentages of number of
vehicles passing a signal in a town between 8am and 10 am.

1. Find the central angle for each type of vehicle.


https://dl.doubtnut.com/l/_0AFlAvBrxsjt
https://dl.doubtnut.com/l/_dUnSg4OlWzdF
https://dl.doubtnut.com/l/_o0oAQPNmI4yL

11. If the number of two-wheelers is 1200, find the number of all vehicles.

Two wheelers

° Watch Video Solution

18. The following table shows causes of noise pollution. Show it by a pie

diagram.

o Watch Video Solution



https://dl.doubtnut.com/l/_o0oAQPNmI4yL
https://dl.doubtnut.com/l/_bXN5TJPVFdMR

19. A survey of students was made to know which game they like. The data
obtained in the survey is presented in the given pie diagram. If the total
number of students are 1000.

1. How many students like cricket?

12 how manystudents like football?

111 how many students perfer other games?

o Watch Video Solution



https://dl.doubtnut.com/l/_bXN5TJPVFdMR
https://dl.doubtnut.com/l/_P13za28SOepe

20. Medical check up of 180 woman was conducted in a health centre in a
village. 50 of them were short of haemoglobin , 10 suffered from cataract
and 25 had respiratory disorders. The remaining woman were healthy .

Show the information by a pie diagram.

o Watch Video Solution

21. On an envirnoment day, students in a school planted 120 trees under
plantation project. The information regarding the project is shown in the

following table. Show it by a pie diagram.

Treename  Karanj Behada ~ Afun | Bakul ‘\ Kadu;\;vri{)\\

S ead g ity + T t t

No.oftrees 20 2 0 402 | 26 |

o Watch Video Solution



https://dl.doubtnut.com/l/_G1fbeb3hp2AI
https://dl.doubtnut.com/l/_qmAdD5IB80WX

